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B. AaBog
NaOH — Na" +OH~
NH,+H,0= NH, +OH"

Noyw EKI (apxni Le Chatelier) n XI otpédetal mpog ta adtdotata popta apo L [NH; ]

2.3)
+Na +Na,CO3 +Tollens
CH5CH,0H 2, 4 avtidpa 1,3,4 oxL 2,3,4 oxL
CH3CH=0 1,3 oxt 1,3,4 oxL 1 avtdpa
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3.2) CH,C = CNa+CH, —CH~CH, — CH,C = C~C HCH, + NaCl
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OEMA 4°
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NaA 4 HCI - HA NaCl
apxn 0,025 0,0125
uetaBolég | -0,0125 -0,0125 0,0125 0,0125
TENOG 0,0125 --- 0,0125 0,0125
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H = pk +log— =pk = pk =5=k =107
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apxn 0,04 0,02
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HA + NaOH NaA H,0
apxn 0,01 0,005 0,01
uetaBoAég | -0,005 -0,005 0,005
TENOG 0,005 - 0,015
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HA: e =0,02mol
NaOH :2,5-107 -0,4 = 0,01mol
HA + NaOH NaA H,0
apxA 0,02 0,01 0,02
puetaporéc | -0,01 -0,01 0,01
téhoc 0,01 0,03
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